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ANNUAL SECONDARY EXAMINATION, 2022
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SCIENCE (THEORY)
qug ;| He 30 e qotte : 40

Time : 1 Hr. 30 Min. _ Full Marks : 40

|y fAE9 / GENERAL INSTRUCTIONS :

1. HEgHl @F T fFe00 OMR Answer Sheet T 9 |

Carefuily fill up the necessary particulars on the OMR Answer Sheet.
2. 3 S T EEET OMR 39 9% § & T’ T WH |

Put your full signature on the OMR Answer Sheet in the Space provided.
3. ¥ R R 3 40 g Foer v £

| There are 40 Multiple Chojce Questions in this Question Bookiet.

4. W 5 AT E | g g o s | S RE

All questions are compulsory. Each question carries | Mark

Q—[lol@?_’é] | scl
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(1) o= (2) SafEeh
(3)  amEtd 4 e
The image formed by a convex mirror is always

(1) inverted (2)  real

(3) magnified (4)  erect

2. Tiehg YU 1 RIRHIAT IHH! AT Tl H fehen T g € 7

(1) A ) o
(3) AR T (4) T @ FIE T

How manv times is the focal length of a spherical mirror of its radius of
curvature ?

(1) Twice (2) Half

(3) Four times (4) None of these
3. 3EAA U A EHF g4 E &

(1) A (2) WTHD

G - T @) T W FH g

The focal length of a concave mirror 18

(1) 7Zero (2) positive
(3) negative (4) none of thege
@@035__ sCl
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( [/ S (2) I
(3) T | (4) FH 9 FE T
Which mirror is used as a shaving mirror ?
(1)  Concave (2) Convex
(3)  Plane | (4) None of these
5. el o9 YEd: et TR F aa ¥ )
(1) T @,
(3) = 4
How many are the main types of spherical lenses ?
(1) One (2)  Two
B)  Three (4)  Four
6. Wwwmmnﬁﬁam%maﬂ%mg
(1) Fw @ F 3R 2p % sy
B) TN FF Ny (4)  2F 3R I 3 g
(J-(10)7035 sCI
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A real magnified image is formed by a convex lens Wher the object is

placed
(1) atF (2)  between F and 2F
(3) between lens and F (4)  between 2F and infinity

¥, STy @ T g & wE A A%, 6 o qg S §
(1) FfgelE % g9 2) e aw
)~ e w3 (4) w0 @ wE w
When a ray of light travels from air to glass, it bends
(1) parallel to the normal ’ (2) away from the normal
(3) towards the normal (4) none of these
g O &l HHA H S AE ¥
(1) i1 (2) ®E
(3 o g~ RIS
Thc; S.I. unit of power of a lens 1s
(1)  Joule (2) watt

(3) erg (4) dioptre

J-(10)7035 sCI NFIBRO
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(1) &= 2) / 3

(3) THAA | (4) gt
Our eves have a .............. lens.

(1) concave (2) convex
(3) plane (4)  bifocal

10. 3@ % «9 @ b1 a3 & e we &
) e () gfves
(3) T grEufeE (4) uiterivE
The radius of curvature of the lens of eve i1s controlled by
(1) Pupil (2) Retina

(3)  Ciliary muscles (4) Inis

1. ®% e £ wfvwan g @ g 79 &

(1) 25em 2) 25m
J-(10)7035 | SCI
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. . vision 18
The standard value of the maximum distance of clea! vis

(1) 25cm (2) 25m

(3) 25m | (4)  infinity

Lo s i T T O fa i g e A A€ 7

(1) Feee gfeeEm @ R
(3) W gfeed (4) T @ P T

Which defect can be removed by the use of a spectacle of concave lens ?
(1) Short sightedness ) (2) Long sightedness -

[3] presbygpia (4] None of these

-

13, AR @1 R, W & e T S e & 2
(1) WM &1 Ead (Qy TERIH AT AT
(3) TSI T RO (4) TR A0 fgy
Which phenomcndn of light does the twinkling of a star represent ?
(1) Reflection of light (2) Refraction of light

(3)  Scattering of light (4)  Dispersion of jgy,,

scl
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(1) Iqgrgsh (2) 3q<Tdch
g o | 4) T®

The substances that take partin a reaction are called

(1)  oxidising (2) reducing

(3) reactants (4) products

T .
FRFT Call), ——s CaO + CO, f&FF TR & AT g ?
(1) A () ferater

(3)  fam (4)  TH 9 SIS TR

What type of reaction is the equation CaCO, —Heat , ~70 +CO,

(1) Combination (2) Decomposition

(3} Displacement (4 None of these

T FH T s ¢ 7

”—l) y YT (2) T
(3) 4 T E e

[3-(10)7035 | sCI
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What type of chemical reaction is respiration ?

(1) Exothermic (2) Endothermic

(3) Combination (4) None of these

17. ﬁmﬁﬁﬁq-ﬁr Cﬂﬁ?wqﬁﬁ ?
(1) FeSO, +Zn (22/_ ~2ZnS0O, +Cu
(3) CuSO, +Zn (4) CuSO, +Al
Which reaction in the following does not take place ?
(1) FeSO, +2n | (2  ZnSO, +Cu
(3)  CuSO, +2n (4) Cuso, +aAl
18. 5 & B Haferm arfe & 2
(Il Na+2H,0 —— NaOH +H,
y 3Fc+4H20 —— Fe, 0, +4H,

CH, *20, ~———CO, + H,O

(4)  TAH A FTE g5

_____ SCI 9 of 20
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Which of the following is a balanced equation :

(1) Na+2H,0 —> NaOH*H,
(2) 3Fe+4H,0 —— Fe 0, + 4H,
3) CH,+20, ——CO, +H,0

(4)  None of these

19.. mZnO+C——-—+Zn+COﬁWWW%?

1) Zn (%} C

(3) 2ZnO 4) CO

In the reaction ZnO + C ——— Zn + CO, which is oxidised ?
(1) Zn (2) C

3) 2hO 4 €O

20. W*mefﬁmuﬂﬁr:ﬁﬁraﬂéﬂT%?

(1) = -}/ ®R
(3) T 4) FH | A A
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Which substance turns red litmus paper blue ?

(1) Acid

(3) Salt

(1) Hcl

(3) HNO,

(2)  Alkali

(4) None of thes€

(2) H,SO

2 4

(4) ~ CH,COOH

Which of the following is a weak acid ?

(1) HCl

(3) HNO,

b

22. A F T Faorg | 3w & 8

1 I' M _ vl
( q]/ QR 1 B =

(3} Na' @y

J-(10)7035 |

(2) H2$04

(4) CH,COOH

(2) OH ™A

{4} OHW

SCI
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js produced in aqueous solutions of acids.

---------------

(1) HY ions (2) OH’ ions

(3) Na' ions (4) O~ ions
23, T o FH-F1 A AT A E 2

(1) @i o 2) A e

(3) Wit e (4) WEEE oA

Which acid is found in curd ?

(1)  Tartaric acid (2) Lactic acid

(3) Formic acid (4) Citric acid
24. Iir foeras & pH A gla1 &

(1) 7 @, 78 %=

3) 7% s 4) 7% Ay

The pH value of acidic solution is

(1) 7 (2) less than 7
(3) equal to 7 (4) more than 7
E_!l_"fm}? | SCI
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(1) pH=8 (2) pH=10
3) pH=12 (4),/ pH = 14

Which is more basic ?

(1) pH=38 (2) pH=10

(3)  pH=12 (4) pH=14

(1) CaCo, (2) CaCLO

(3)- caocCl, (4)  Ca(HCO,),

The chemical formula of bleaching powder is

(1) Caco, (2) CaCLO

(3)  CaOcC, (4)  Ca(HCO, ),
(), A (20 CO, ¥

(3)  TEIA 7 4)  TURRa ¥
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In photosynthesis oxygen 1s released from

(1) Water 2) €O,

(3)  Glucose (4)  Chlorophyil
SR W F FOEwY F GAT 8 2
(1 TR () U TewRd

(3) SN (4) ¥
What is formed as a result of anaerobic respiration ?

(1}  Glucose (2) Ethyl alcohol
(3) Oxygen (4) Water
Frfefaa & # uwstar & 2

(1) TEsTisas (2) ey

(3) anfws (4) H=T

Which of the following is a parasite ?

(1) Rhizobium (2)  Plasmodium

(3)  Orchid (4)  Mosquito

———

[J-110)703s | scl
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30.
(), = (2)
@ o (4)  w
What is the fluid portion of blood called ?
(1) Plasma (2) Serum
(3)  Lymph (4)  Artery
3| TSE F 539 § SIS & d@m g
(9. 2 2) 3
3) 4 (4) ael U
The number of chambers in the heart of a fish is
(1 2 2) 3
(3) 4 (4)  only one
32 W A g vw Ay )\ & N weied 8
(1) Mo (2) ¥ET ¥
Q) Fe (4) dREE &/
___——“M?.s__]l sCI
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The kidney in human is the part of a system whi

(1)  Nutrition (2)

(3)  Excretion (4)
33. Ao g A

(1) FANNEA | (2)

(3) vt AaE B (4)

Magnes?ium is found in

(1)  Chlorophyll (2)

(3) Chromoplast (4)

34. foud ngem fofy gy s efan @ 2

(1) 3= (2

(3) =TIy 4)

Which reproduces by budding ?

(1) Amoeba (2)
(3) Spirogyra (4)
[J-(10)7035 | scI

ch is related to

Respiration

Transportation

AT IH F T

i T H0T |

RBC

WBC

Hydra

Mucor

16 gf a |
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35. UH U fhue SR g ¥ 2
(1) sftEr
(3) wm
AIDS is caused by
(1) Bacteria
(3) Fungus
36. NI H B &
(1) & ST
(3) &=
The anfhcr contains
(1) Sepals
(3) Ovules
37. qv Tasfaa srewmr wEemar ¢
(L, &
(_I:a} GiE
3-10)7035 |

SC1

1)
(4

(2)

(4)

)

t'd

2)

(4)

(4)

fereTo]
et

Virus

Protozoa

Ovary

Pollens

7} HIs Tl

SCI
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A fully matured ovary is called

j Seed
(1)  Fruit (2) See

these
(3 Owule (4)  None of the

38 sF@iEIE H A €

(1) PEC| [%]/ EﬁmﬂT
3 (4) ¥

Non-renewable source of energy 1s

(1) W‘ind (2) Coal

(3) Sun (4)  Water
39. 9R T ®i W faya § sgemare 476 & Fed @

(1) & o (2) oI g9

(3) UEE ™ 4y AT Oe

The device

which directly converts solar cnergy into electricity <

known ag
(1) Dry cell (2)  Nippo cell
(3) HV{!r'qf:ldy cell (4) Solar cel|

| J-10)7035 “er
18 of ¢



40.

9-10)7035 |

Download PDF from - JACBoardSolutions.com

ffefEd o S JE&Id: A9 T w1 gues € 2

(1) ETEgeE (@ H
(3 TR (4) A

Which one of the following is mainly the constituent of biogas *
(1)  Hydrogen (2) Methane

(3) Ethane (4) Butane

sCl 19 of 20



